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B B A B 40 37 77 6.0 71.0 500
B NE ER 40 37 77 5.0 72.0 400
341 T = 36 38 74 2.0 72.0 300
Afs1 FR HEH 45 40 85 13.0 72.0 200
54z ®E FB 42 40 82 10.0 72.0 100
(]iva NE BA 43 38 81 8.0 73.0
74 AN XE& 44 40 84 11.0 73.0 90
]2 MR XX 44 42 86 13.0 73.0
9z BH BX 42 38 80 5.0 75.0
104z WE & 44 40 84 9.0 75.0 75
1141 A & 46 40 86 11.0 75.0
1241 nE A 49 36 85 9.0 76.0
134z AR FEA 46 40 86 10.0 76.0
14431 = &5h 48 40 88 12.0 76.0
154 ZR FH 44 42 86 10.0 76.0
1641 B & 43 44 87 10.0 77.0
174 Fi kB 43 44 87 10.0 77.0
181z kiR BE 46 39 85 7.0 78.0
1941 ER E& 41 38 79 0.0 79.0
2041 FElE MEH 44 40 84 5.0 79.0 75
214 &R ZBA 43 40 83 4.0 79.0
22{i1 TR W2 43 41 84 5.0 79.0
23{i1 AXH #B=® 45 41 86 7.0 79.0
24451 BiE =7 46 43 89 10.0 79.0
25131 B REA 43 46 89 10.0 79.0
2641 AFH OB 43 49 92 13.0 79.0
2741 RIS =E 51 41 92 12.0 80.0
2841 A0 = 47 42 89 9.0 80.0
291 Fall 281 44 42 86 6.0 80.0
301 Fll FRXR 44 45 89 9.0 80.0 75
3141 A EBAXER 42 46 88 8.0 80.0
324 FE ER 46 38 84 3.0 81.0
331 HZE X 43 42 85 4.0 81.0
3441 EX AR 47 43 90 8.0 82.0
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354 ZE2 &N 49 46 95 13.0 82.0

361 ZFH K 45 47 92 10.0 82.0

3741 A0 EX 44 46 90 7.0 83.0

381 WE =a 50 45 95 11.0 84.0

394 e B 46 46 92 8.0 84.0

40131 F OEX 47 47 94 10.0 84.0 75
4141 HifE & 48 49 97 13.0 84.0

4241 2H EA 50 47 97 12.0 85.0

4341 R EF 53 45 98 12.0 86.0

44431 FalR 53 45 98 12.0 86.0

A5{i1 Wk &2z 50 49 99 13.0 86.0

4641 E EZ 50 47 97 10.0 87.0

AT ik S 49 51 100 12.0 88.0

BBE RE AL 47 52 99 11.0 88.0 120
A913L B OE— 49 53 102 10.0 92.0
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